*=UP UfcTA bI¢dcT 20234

dcl bl d131, & 3 dI2 3HI21

MATHS

60244- * S\
tc [ RAGTICE PAPER - 1 3

OLIvE 01:00 PM



No. of Questions Marks
General Knowlegde (ATHTT JATH) |38 76
General Hindi (ATHT ks =ar) 74

Numerical & Mental Ability Test
(TTATcHe ST A &HaT)

<

37
VS
&)

Mental Aptitude Test or
Intelligence Quotient Test or
Reasoning

(HHoreh SR, Sfgetioy 3t

dqTicheh &THT)

37

74




YVVVVVVVYVYVYVYVYVYYVYY

(

Simplification —
HCF &LCM
Percentage /
Profit & Loss

Compound Interest\_-
Ratio and Proportion .~ » Number system
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Partnership » Mensuration
Average

Time & Work

Pipe & Cistern
Time & Distance
Problems On Train
Boat & Stream
Alligation & Mixture
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Question 1- A person spent 40% of his salary. If he have Rs 3840 left then find

total salary of the person.
Ifs 3Gh 3840} CEE

9 |- Teh SAh 39 oad

40% @< L]

ST<h T el od 1A oﬁﬁeﬁl
I}/MOYM: {OO@/G 60‘/6:% 3940 A.Rs 3400
o - Xy CBTRs 6400
J o), i % C.Rs 2400
O
607 )OO\/ Q) D.Rs 9600
’ = 2390 w00
E
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Question 2- A person have Rs 42,000. He divided his money in ratio 16:5. Find
the larger part of the money.
T 2- Ueh o 1<h o UTH(42,000 393 2

a?\aitﬁaﬁﬁl_& S s ST H fervTiSid oLl
= 16X 000

S A.Rs 22.000
=X 3000 ’

JBRs 32,000

C. Rs 40,000

D.Rs 12,000

e —
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Question 3- A and B can do a piece of work in 16 days and 24 days. In how

much time they will complete the whole work.
T 3- A 3 B Th S o 16 o 3R 24 & | o Hehd &1 o IL T i Tohell S0 H

T AT

A.9.4 days
vB79.6 days

C. 8.6 days

D.12.5 days



=)UP C[la'é_-[ DdI3¢dcT 20234

L
7? 4 L BRGLY
s 2R
ey CT) UOT(«W)
= 4y o R0
- :



=) UP QIcT>A DR 20234

Question 4- A person invested his money at 20% per annum simple interest for 3
years. Find the simple interest on a sum of
%1 4- Ueh AT 4 3 N o Fer(20% Syt 3 AT oeirst ot ST e frar e

2400 SR 1 TRT 9T TETOT AT 91 1Ty
A.Rs 1240
B.Rs 1640
_C-Rs 1440

D.Rs 1520
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Question 5- Find the compound interest on a sum of Rs 12,000 at 20% per annum

in 2 years.

T4 5- 12,000 TG <RI TR IL 2 99T H 20% Tid I8 hl G H Fshallg, AT Fd shiTsT|

A.Rs 4280
B Rs 5280
C. Rs 4480
D.Rs 3280
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Question 6- A train running with a speed of 54 km/hr crosses a pole in 36
seconds. Find the length of train.

T 6- 54 Terwi/ereT &t fd & =iei aTef Ueh ¢ Ueh G ohl 36 ¥ehe § I hidl 2l o
Sl TS T ehilely]

& }wd & t(WD :@/u-!cm(({ R(f) | A. 440 meter

vB—540 meter
—IT'W\L (HH{D }r C. 240 meter
1™

—> T D.300 meter
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Question 7- A boy and a girl can do a work 1n 20 days. If the efficiency of boy
and girl 1s 1n ratio 3:5 then find total time taken by girl to complete the whole
work.

T 7- Ueh TTgehT 3T Ueh TTSoh! Ush shid ol 20 TaHT H T Hehd 8| Al TTgeh 3R Tgehl
ol G&TAT ST STUT 3@,%@5@ ST qL 3T o I st H oTaT TRIT ped SR Tl
EISE

\'U = E X T K32 days
B. 22 days
C. 28 days
D.30 days
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Question 8- Question 2- A number first increased by 10% and further increased
by 20%. Find percent increase in overall value.
T 8 Teh HEAT H U8 10% hl Ie 8% AR S1E H 20% i & 851 et 9o | Thawrd

o [ @
Jlg JTd hllSI|

100
T Ty 5
i e

D.40%
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Question 9- Ex: A candidate scores 25% and fails by 30 marks, while another
candidate who scores 50% marks, gets 20 marks more than the minimum

required marks to pass the examination. Find the pass percentage.

Ueh IFHTGI(25% ok JTH hidl & ﬁ@?ﬁu%ﬂ ISINIEASCIECK
SITH ST &, S TRIETT 191 ol oh (7T =IAH 3Te9aeh 3ol §

A.33%
LB—40%
C.35%
D.28%
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Question 10- 93-5. 33 g equal to
g5 10- 93°: 32 forweh SIS 27

H)W bUO)’\( A.9:2

B.9:4
C.9:1
D.9:5



